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GENERAL STUDIES

Time Allowed: Two Hours Maximum Mark€@

| nstructions:

1. You have to write your name on the Test Booklahmbox provided alongside. Do not write
anything else on the Test Booklet.

2. This Test Booklet contains 100 questions. Eachtgresomprises four answers. Choose and mark
only one response which you consider the most gpiatte answer on the Answer Sheet.

3. All questions carry equal marks.

4. Attempt all the questions. There will be no penédtywrong answers.



1. With reference to the role of UN Habitat in the téwi Nations Programme working towards a better
urban future, which of the statements is/are ctiPrec
1. UN-Habitat has been mandatechkyUnited Nations General Assembly to promote digcia
and environmentally sustainablerts and cities to provide adequate shelter for all
2. Its partners are either Governisien local urban authorities only.
3. UN-Habitat contributes to the @lkeobjective of the United Nations system to reglu

poverty and to promote accessafe drinking water and basic sanitation.
Select the correct answer using the code given below.

a)l,2and3 b) 1 and 3 only ) 2and 3 only d) 1 only
2. Which of the following city was formally accomiéhe status of India’s first World Heritage city b
UNESCO in September 2017?
a) Ahmedabad  b) Jaipur c) Hampi d) Chennai
3. Which of the following statements are correatdgference of PMGDISHA in the context of digital
literacy?
1. Pradhan Mantri Gramin Digital Saksharsithiyan
2. It is expected to make six crore ruralgeholds digitally literate by March 2019
a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 Bor
4. Who wrote the Book “Age of Anger: A History dfe Present”?
a) Pankaj Mishra b) Arun Shouriec) Jaswant Singh  d) Shashi Tharoor
5. Which of the following statements are corredhweference to ‘Organisation for the Prohibitidn o
Chemical Weapons ‘(OPCW).
1. Itis an organization of European Uniio working relation with NATO and WHO.
2. It monitors chemical industry to pretvaew weapons from emerging.

3. It provides assistance and protedbostates against chemical weapons threat.

a) 1 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
6. Who won Nobel Peace Prize, 20177
a) Amnesty International bdeimational Organisation for Migration

¢) International Campaign to Abolish Nucl®¥éeapons

d) International Atomic Energy Agency



7. Which state reached the milestone of makingitils Open Defecation Free (ODF) dfi @ctober,
201772
a) Maharashtra b) Jharkhand ) Haryana d) All of the above

8. Which of the following statements are correatalation with the nationwide ‘Soil Health Card
Scheme'?
1. Expanding the cultivable area under atimn.
2. Enabling the banks to assess the quaotloans to be granted to farmers on the basisibf s
quality.
3. Checking the overuse of fertilizers imfdgands.
a) 1 and 2 only b) 3 only c) 2 and 3 only 1dp and 3
9. Which of the following News Paper is published-rance?
a) Pravda b) New &atan c) Chronicle Herald d) Courier Intéorel

10. Which of the following is not correctly matcied

List | List 11
(Establishment) (City)
a) The School of Artillery Deolali
b) Navigation Direction School Maugao
c¢) School of Aviation Medicine Hymbad
d) Rashtriya Indian Military College Detm

11. What was the theme of the 2017 World Diabet@gWDD)?
a) Child and Diabetes-Visualize Futwith Safety
b) Women and Diabetes-Our Right to altiy Future
c) World and Diabetes-Right to Healtid) Child and Diabetes-Future of World
12. Which of the following pairs is not correctlyatohed?
1. Agni V — Intercontinental Rangesiile
2. Trishul — Supersonic Cruise Missil
3. Shourya — Hypersonic Cruise messil
4. Dhanush — Short Range Missile
a)land4 b) 2 and 3 c) Only 4 d) Only 2



13. Which of the following countries have won tH&4 World Cup most number of times?

a) ltaly b) Germany c) Brazil d) Spain
14. The term ‘Hot Money’ is used to describe
a) The money which is stolen b) The nyorhkich is spend as soon as it is earned

c) The money which is earned througtgéll means
d) The money that flows into a countrydke advantage of high rates of interest there
15. Which of the following statements regarding 8upreme Court of India are correct?
1. It has a power to entertain appeal femmy court or tribunal within India
2. It has the power to deliver advisorynggn on any question of fact or law referred to it
by the President
3. Salaries of the judges of the SupremarCare subject to vote by the Parliament

4. Its jurisdiction is binding on all otheourts within India

a)land3 b) 2 and 4 c)and 4 d)1l,2and4
16. The Governor does not appoint the
a) Judges of the High Court  b) CiMihister ¢) Advocate General of tHat8

d) Chairman of the State Public Servioenghission

17.Assertion (A): The Constitution does not allow the Chairman 8tae Public Service Commission to

take up any furthex@oyment under the Union or State Government
Reason (R): The Constitution seeks to ensure the independefrite Public Service Commission
members

a) Both A and R are correct and R exgl@n
b) Both A and R are correct but R dodgsexplain A c) Ais correct but R is incorrec
d) A is incorrect but R is correct

18. Which one of the following statements is carf?ec
a) Only the Rajya Sabha and not the Lalkha can have nominated members
b) There is a constitutional provision f@minating two members belonging to the Angloidmd

community to the Rajyasabha

¢) There is no Constitutional bar for amwwated member to be appointed as a Union Minister

d) A nominated member can vote both inRhesidential and Vice Presidential elections



19. The UPSC conducts examinations for
1. Central Services 2. All India Sees 3. State Services
4. State Services for two or moreestgointly
a)l,2and3 b) 2 and 4 c) yon d)1and?2
20. Article 156 of the Constitution of India proeslthat a Governor shall hold office for a ternbglears
from the date on which he enters upon hie@ffwhich of the following can be deducted fronsth
1. No Governor can be removed from offiteétte completion of his term
2. No Governor can continue in office beyanperiod of 5 years
a) 1 only b) 2 only c) both 1 and 2 d) neither

21. Match List | with List Il and select the cort@mswer.

List | List 1l
(Form of Gover nment) (Essential Features)
A. Cabinet Government Séparation of powers
B. Presidential Government gli€xtive Responsibility
C. Federal Government C@8ncentration of powers
D. Unitary Government Dlvision of powers
A B C D
a) 3 4 2 1
b) 2 1 4 3
C) 3 4 1 2
d) 4 3 2 1

22. Which one of the following resigned as Vicedfitent to contest for the office of the President?
a) Fakruddin Ali Ahmed b) Neelam Sang&eddy c) V.V. Giri d) Dr. S. Radhakrishnan
23. Which of the following statements is correct?
a) The President of India is not a membehefG@ouncil of Ministers but he can attend its mmegti
b) The President of India is a member of tbeareil of Ministers but he never attends its megin
¢) The President of India is neither a mendf&Zouncil of Ministers nor can he attend its megi

d) The President attends the meetings of then€ll of Ministers only during an emergency



24. Which one of the following articles of the Ditere Principles of State Policy deals with the
promotion of international peace and SeygArit
a) Article 51 b) Article 48 A Article 43 A d) Article 41
25. Which one of the following statements regardmgFundamental Duties contained in the Indian
constitution is/are correct?
1. Fundamental Duties can be enforcemlityh writ jurisdiction
2. Fundamental Duties have formed agfatte Indian Constitution since its adoption
3. The Fundamental Duties became patteoConstitution in accordance with the recommé&ada
of the Swaran Singh Committee
4. Fundamental Duties are applicablg tmkitizens of India
a)l,2and3 b)1,2and 4 2and 3 d)3and 4
26. Which of the following is the correct chronalce sequence of the formation of states in India?
a) Sikkim, Goa, Mizoram, Arunachal Praded#) Sikkim, Mizoram, Arunachal Pradesh, Goa
c) Goa, Sikkim, Mizoram, Arunachal Pradedh Mizoram, Goa, Arunachal Pradesh, Sikkim
27. The Parliament can legislate matters in thee3tist
a) Under any circumstances byH&ywish of the President
c) If the Rajya Sabha passes a resolutioml) By asking the Legislature of the concerBeate
28. Who decides whether a Bill is a Money Bill @t
a) Speaker of the Lok Sabha  b) President ) Prime Minister d) None of these
29. Which of the following are the main jurisdigt®of the High Courts of a State?
1. Original Jurisdiction
2. Appellate Jurisdiction
3. Supervisory Jurisdiction
4. Advisory Jurisdiction
Codes:
a)l,2and3 b) 2, 3 4nd c)1,3and 4 d)1l,2and4
30. Which of the following states has no LegisiatCouncil?
a) Maharashtra b) Tamil Nadu c¢) Uttar Pradesh d) Bihar



31. Which of the following are areas identified My | Aayog to engage in?
1. Land Leasing 2. Land Acquisition 3. Land Titling 4. Right to Education Act

a)2and4 b) 1,2 8n c)l,3and 4 d) All oethbove
32. Match the following:
List | List Il
A. Cripps Mission 1.1942
B. Shimla Conference 2. 1945
C. Naval Ratings Agency 3. 1946
Codes:
A B C
a 1 2 3
b) 1 3 2
c) 2 1 3
d 2 3 1

33. The Home Rule Movement stood for
a) Complete independence of India b) Introduction of universal adult franchise
c) Self Government for India d) Both (b) and (c)

34. Why was the Simon Commission appointed by ttitgssB Government?
a) to inquire into the causes of growingence in India
b) to suggest reforms in the system okgoment established under the act of 1919
c) to Indianise the defence forces d)lbthe above purposes
35. Who among the following were known as the “Bxay Triumvirate™?
a) BG Tilak, GK Gokhale and KT Telang R¥)eroz Shah Mehta, KT Telang and Badruddin -
Tyabjee c) BG Tilak, GH Deshrhudnd Dadabai Naoroji
d) Dadabhai Naoroji, KT Telang and RG Bhakdr
36. The Gvernment of India Act, 1935 was a resudtigcussion in the
a) All Party Conference b) Third Round Table Conference

c) Lucknow Session of the Congress d) Poona Pact



37. Arrange the following events in chronologiceder and select the correct answer from the codes
given below.
A. Dandi March B. JallianwaBagh Massacre  C. Quit India Movement
D. Swadeshi Movement
Codes:
a) B DAC
b) D B AC
c) BA D C
d DB C A
38. Modern Indian Nationalism arose mainly
a) As a result of studying the English laage b) Because of the steady erosion of the sgstem
c) As religion was no longer considered im@at  d) To meet the challenge of foreign daation
39. Arrange the following Commissions in the chridogaal order and select the correct answer froen th
codes given below.
A. Kothari Commission  B. Radhaknah Commission C. Saddler Commission

D. University Grants Commission

Codes:

a) C B D A
by B C D A
cc D C A B
d C B A D

40. The main emphasis of Upanishads is on whichasy philosophy?
a) Bhakthi b) Gyan c) Karma d) Tapa
41. Which of the following pairs is not correcthyamhed?
Institution L ocation
a) Khudabaksh Library Patna
b) Bhandarkar Oriental Research Ingitut Pune
c¢) National Library New Delhi
d) Salarjang Museum Hyderabad



42. The only grain referred in Rigveda is
a) Sesame b) Barley c) Wheat d) Rice
43. Since independence, both development and naigfement expenditures have increased, the
increase in the former being a little morentiathe other. Non development expenditure invelve
1. Interest Payments 2. Subsidies 3. Defence 4. Irrigation
a)land?2 b) 1 only c) britl 3 d)2,3and 4
44. Agriculture marketing in India has certain at$ethat do not include
a) Inadequate transport facilities b) Laclst@indard measures and weights
c) Agricultural produces not being propegtaded
d) Insufficient price incentives by the Govaent
45. Which of the following factors is/are helpfokfstrengthening India’s agricultural sector?
a) Extensive land and water resources
b) Significant public investments in agitave research, development, etc.
c) Government’s support in input subsidied output prices
d) All of the Above
46. The principal function of NABARD is to providimance for the promotion of
a) Agriculture b) Sm&tale and Cottage Industries
¢) Handicrafts and other rural craft Adl)of the above
47. The instruments used by RBI for quantitativetoa are
1. Cash Reserve Ratio 2. Statutory Liquidity Ratio
3. Open Market Operation 4. Margin Regmients
a)l,2and3only b)1,3and4onlyx)land2only d)2and4only
48. State with the highest female population asdesrsus 2011 is
a) Kerala b) Himachal Pradesh ¢) Ukthaad d) Nagaland

49. India is said to be in the second stage of dgapiic transition because
a) Both birth and death rates are high
b) Birth rate is high but death rate isloléng due to improvement in health services
c) Death rates and birth rates are dedisharply  d) None of the above
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‘World Development Report’ is an annual puliima of

a) UNDP b) IBRD c) WTO d) IMF
Lava dance is performed by which of the follogvareas in India?

a) Tripura b) Lakshadweep  c¢) Mizoram d) Andaman and Nicobar Islands
Which of the following is/are true regardingyldaars?

1. They were worshippers of Vishnu

2 Thevaram andThiruvachakam are the two sets of compilations of their songs

a)only 1 b) only 2 c) both 1 ghd d) neither 1 nor 2
Who of the following Chinese pilgrims visitattia?
1. Yit Sing 2. Huan Tsang 3. Fami
a) 2,3 b)1,3 c)1,2 d) All of the above

What is the criterion for Sangeeth Natak Acagléon deciding whether a dance is classical or not?
a) If recognized by Ministry of Culture b) If it incorporates Natya Sasthra Tegbhas
c) If its origin can be traced back o antilndia d) All of the above

55. Yoga philosophy is closely related to whichestimajor school of philosophy?
a) Mimamsa b) Vaisheshika c) Samkhya NyBya
56. Match the following:
List | List Il
Festivals States
A. Flamingo 1. Andhra Pradesh
B. Sangai 2. Manipur
C. Ramman 3. Uttarakhand
D. Nabakalebara 4. Odisha
Codes:
A B C D
a) 1 2 3 4
b) 1 3 2 4
C) 2 1 4 3
d) 2 4 1 3
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Which among the following is/are the works @llidasa ?
1. Ritu Samhara 2. Meghaduta aRamara Charita 4. Kumara Sambhava
ayonlyland2 b)only2,3and4)onlyl,2and4 d) All of the above
Which among the following Hindu painters wastd®y Jahangir to portrait Shah Abbas | of Persia?
a) Basawan b) Bishan Das c) Dasarath at)alar
Satipati Sampradaya is a tribal community of
a) Himachal Pradesh b) Gujarat c) Karnataka d) Odisha
Which of the following are ozone depleting $ahses?
1. CFCs 2. Halon 3. Carbon Tetra Chloride 4. HFCs
a)l,2and 3only b)1and4only Altlare Correct d) 1, 3and 4 only
‘Black lung disease’ is generally observed ol industry?
a) Iron b) Coal c¢) Diamond d) Bauxite
Consider the following list regarding diseaaed their vectors:
1. Malaria-Female Anopheles 2. FilaCialex Mosquito 3. Dengue-Aedes Egypti
a) 1 only b) 2 and 3 only c) All are correct d) 1 and 2 only
Which among the following matters add carbaxidie to the carbon cycle on earth?
1. Photo synthesis 2. Respiration 3. Decay of organic matter 4. Volcanic action
a) 1 and 4 only b) 2 and 3 only c) 2, 3 and 4 only d) 1 and 3yonl
Which among the following pairs is/are corngatlatched?
1. Nokrek Biosphere Reserve-Garo Hills2. Loktak Lake-Barail Range
3. Namdabha National Park-Dafla Hills
a) 1 only b) 2 and 3 only c)1,2and3 d) None
Which of the following statement is not corfect
a) Promology is related to fruit growing
b) Aboriculture is the growing of and cayifor trees of aesthetic purpose
c¢) Horticulture is a branch of agricultuedating to the cultivation of fruits only
d) Pisciculture is related to honey prdauc
. Which one of the following states shares bawied with the maximum number of other states of
India?

a) Madhya Pradesh b) Maharashtra c) Assam d) Bihar
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. The oldest mountains in India according to gaplgical history are

a) Satpuras

b) Nilgiris c¢) Vindhyas d) Aravallis

. Which of the following statements regarding Amdn and Nicobar Islands is/are correct?

1. It enjoys equatorial climate. . TAis is the only place in India where a volcasitoicated.

3. This is the only place in India weoral bed is found.

a)l,2and3 b) 1 and 2 c)2and3 d) 1 only
. The Great Victoria Desert is located in
a) Canada b) West Africa chtalia d) North America

. Which of the following factors are responsitdelndia’s failure to fully exploit the inland figeries

during the last five decades?

1. Silting and pollution of the inland teabodies

2. Deforestation in the catchment arddbeorivers 3. Lack of marketing facilities

a)l,2and3

b) 1 and 2

c)land3 d)2and 3

. Which was the first state of India to ratify GBill?
a) Arunachal Pradesh b) Assam Arnghra Pradesh d) Bihar

. Which of the following city organized the G 3dmmit held in July 20177
a) Brisbane b) Toronto Cltdlpa d) Hamburg
. Match the following:
List | List Il
Mountains Continent
A. Rockies 1.North America
B. Pyrenes 2. Australia
C. Great Dividing Range Mountains 3. Europe
D. Stanovoi 4. Asia
E. Atlas 5. Africa
Codes:
A B C D E
a 1 3 4
by 1 2 4
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c) 2 1 4 3 5
d 2 4 1 5 3
74. Which of the following is not a Credit RatiAgency?
a) CRISIL b) ICRA NJKKEI d) CARE

75. Global Entrepreneurship Summit 2017 held incllaity on 28 November, 2017.
a) Ahmedabad b) Hyderabad c) Bamgalo d) New Delhi

76. Which of the following statements are true rdgey GST?
1. GST was introduced as the i @mendment Act.
2. Finance Minister is the Chairman of G&3duncil.

3. GST is a destination based tax on copsomof goods and services.

a)l,2and3 b)land?2 and 3 d)land3
77. Who won the Fourth European Golden Shoe aw@itd?2

a) Lionel Messi  b) Christiano Ronaldo cniver d) Luis Suarez
78. ISRO will launch which first Solar Mission if929?

a) Antrix-LI b) Aditya-L c) Aditya-LI d) Surya-I

79. In order to be elected as a Judge of the latiemmal Court of Justice an individual must obtat----
1. Simple majority in General Assembly . SEnple majority in Security Council
3. Absolute majority in General Assembly. Absolute majority in Security Council
a)land?2 b) 1 and 4 and 3 d)3and 4
80. Which of the following statements are true ahdN Trusteeship Council?
1. The Trusteeship Council suspentedperations in 1994
2. Palau was the last UN Trust teryitm gain freedom
a)land?2 b)1only c¢)2only d) Neithendr 2
81. What is the theme of Pravasi Bharatiya Divhglwwas celebrated on 9th January 20187
a) Ancient Route, Ancient Journey b) Ancient Route, New Journey
c) New Route, New Journey d) New Route, Ancient Journey
82. MadavoorVasudevan is related to which of thieang field

a) Kathakali maestro. b) Politician. c) Singer d) Writer
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Who has been appointed as the Internationaké&rCouncil’s (ICC) first ever independent female
director?

a) Nita Ambani b) Chanda Kocherc) ArundathiBatachariya. d) Indra Nooyi.

Prime Minister's Employment Generation Progranmsra credit-linked subsidy programme that aims

at generating employment in
a) non-farm sectors b) farming sectors bath aand b d) none of the above
The name of instrument which is developed bgddenent of Atomic Energy that measures the
traces of Uranium in water is

a) Uranium Meter b) Fluorimeter c) Ato meter d) Energy meter

Acid present in gastric juice is
a) Citric acid b) Hydrochloric acid ¢) Sulphuric acid d) Acetic acid
Which of the following statements are corrdudwd “World Heritage Day 2018"?
1. World Heritage Day was obsergadApril 18.
2. World Heritage Day 2018 Themes\ideritage for Generations”.
a) Only 1 is correct b) Only 2 is cotrec) Both 1 and 2 are correct d) Neither 1 2are correct
Exposure to sunlight helps a person improvééasth because
a) the infrared light kills bacteriathre body b) resistance power increases
c) the pigment cells in the skin getnstiated and produce a healthy tan
d) the ultraviolet rays convert skiniailo Vitamin D
Which of the following gases cause acid rain?
a) Sulphur dioxide and nitrogen oxides b) Carbon dioxide and nitrogen oxides
c¢) Sulphur dioxide and carbon dioxide Sd)phur dioxide and carbon monoxide
The spacecraft launched by NASA on Atlas V ebd& explore the deep interior of Mars from
Vandenberg Airforce Base in California, is5" May 2018.
a) InTouch b) MarSec c) In8ig d) InOrbit
Which of the following statements are correct?
1. China has launched a new commtinitaatellite APSTAR-6C at the south western Xiaja
Satellite Launch Centre.
2. ISRO has successfully launched G$A telecommunication satellite using GSLV-F08nfro
the Satish Dhawan Space Cent&rilmarikotta.
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a)only 1is correct b) Only 2 isrext c) Both 1 and 2 are correct d) Neither dZhare correct

The ‘Red Data Book’ is the documentation oérand endangered species of

1. Animals 2. Plants 3. Fung
a)Only 1 b) 1 and 2 c)2and3 d)1,2and3
Consider the following Mangrove areas:
1. Bhitarkanika 2. Pichavaram 3ofapur
Which among the above is/are situatecherBastern Coast of India?
a)Only 1 b) 1 and 2 c)land3 d) and 3
The membership countries of NAFTA are
a) USA, Canada, Mexico b) USA, Canadanédzuela c) USA, Canada, Russia

d) USA, Canada, France

The ¥ International Ground Water Conference (IGWC-204@} hosted by India in New Delhi
from December 11 to 13, 2017. The thefreooference was
a) Ground water Vision 2030 - Water Si#guChallenges and Climate Change Adaptation
b) Ground water Vision 2020 - Water S@guChallenges and Climate Change Adaptation
¢) Ground water Vision 2025 - Water S#guChallenges and Climate Change Adaptation
d) Ground water Vision 2035 - Water SeéguChallenges and Climate Change Adaptation
UNESCO has named which city as the World Boagital for 20197
a) Sharjah b) Madrid c) New Delhi d) Buenos Aires
What is the name of India's language platf@amthed by CIL Mysuru to publish content in 121
languages and host online classes?
a) Bharatsamachar b) Bharatsandesh c) Bharatavani d) Bharatupdesh
Which of the following statements are corrdumiwt the National Testing Agency(NTA)?
1. The Union Cabinet has approvedtora of National Testing Agency (NTA) as a Society
registered under the Indian SiteseRegistration Act, 1860.
2. It is an autonomous and self-snsthpremier testing organization to conduct erttean
examinations for higher educationstitutions.
a) Only 1 b) Only 2 c) Bdtrand 2 d) Neither 1 nor 2
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99. Who won the Australian Open Women'’s single til 20187

a) Angelique Kerber b) Caroline Wozihiac c) Simona Hale d) Garbine Muguruza

100. Which of the following is not correctly matcite
a) Krishna Raja Sagar dam- Krishna river b) Indira Sagar dam- Narmada river

c¢) Hirakud dam- Mahanadi river d) Ukai dam- Tapti river




